IR A EERCIKR

{i7)I1 (BOD) (BT :mg/L)
K e N TRI24E SRS T4
A w | |EFAR ) WS T [ 7a0n it [ # | 5% [#

e L it LI 1.5 1.2 1.4
L) B Al S$45.9.1 TR 50 O 50 O e O
T ) E = S45.9. 1|7 17K FH 22 O 22| O .71 O
ILE )T (2) B|A| H21.3.31|/l%HE .71 O 1.9 O 1.3] O
T T (1) Clnm S45.9. 1| RVEHRERNE 43 O 3.6 O 3.1 O
FIAR 2 {A] B|m H3.3.30 |3 40| X 3.6 X 5.2 X
el E |/~ S48.7.31|F K& 231 O 2.1 O 2.1 O
el B /N S48.7.31|&) kG 271 O 22| O 24 O
=531 E |/~ S48.7.31|ZEFNMHE 76 O 721 O 6.8 O
FARI E |/~ S48.7.31|E 43 IIA ¥R 10| O 83| O 791 O
=) B/~ S48.7.31 ?fﬁiﬁq 21 O 2.2 @) 2.7 O

= PRI 2.8 4.0 3.1

- S (A1) 1.9 2.0 1.2
FIARIN T AlA $48.3.31 T (G o X o O o X
Apall B|A| $60.3.29| &M 2.1 O 1.8 O 1.5 O
&L B[ N S50.1.21|4 NG 3.0 O 24| O 24 O
K] C|-~|  S50.1.21| LB#E 29 O 251 O 23 O
KIE) | D |/~ S50.1.21|dbHiHE 20 O 1.9 O 3.71 O
JEE )11 Al S50.1.21 | 18 1.3] O 1.2] O 1.2] O
) 1] C| /|  $60.3.29|FEATHE 1.5 O 1.9 O 20| O
FH) C|-~|  S50.1.21|ME4 48 09 O 1.1] O 1.2] O
il = )1 B|A S60.3.29 | Fifi 7 A% 1.8 O 251 O 1.6 O
FRIRE) 1| AN S50.1.21 |#hIRHE 3.2 X 3.6 X 3.2 x
el D| N S50.1.21|ZHiG 3.3 O 29| O 271 O
FIREHOKIE (13R) | C |~ $50.1.21 [\ TG 52| X 6.9 X 6.0 X
£ Bl= H8.4.30| & P48 5.4 X 5.7 X 5.2 X
AL B |/~ S48.7.31|#0)11/KF 4.4 X 3.5 X 3.8 X
RAEEI = S48.7.31| BE 44 3.0 X 3.7 X 43| X
/NP B |/ S48.7.31 /N8B )11k Y 20| O 24| O 19| O
BEB i B |/~ S48.7.31|H o KiE 1.9 O 1.9 O 24 O
BENT i Alnm S48.7.31 | FBEINZKFH 5.0 X 3.6 X 3.9 X
1K) = H8.4.30 [J5 K 1.3 O 1.9 O 1.8 O
e AlA H8.4.30| 1A Bk 5 5.8 X 2.5 X 2.7 X
Bl B Clm S48.7.31| T Ki 59| X 441 O 53| X
BT C|,~|  S48.7.31|EiiAHE 6.6 X 58| X 6.9 X
ESTI IS = S48.7.31 | HrHAG 1.9 O 1.6 O 2.3 X
S T B|= S48.7.31| AR KAE 20 O 19| O 1.8 O




(BN :mg/L)

i 15 1| e N B2 BR3EE BFAERE
KIgk4s | fEEFEH H T 7E Hh 54 TS e 7o 7l

mal Al S48.7.31| 5- V48 1.2 O .1] O 1.3] O
AF) Alnm S48.7.31| K 4E 1.8 O 1.8 O 2.1 X
EEN = S48.7.31|FE= KA 1.8 O .71 O 2.1 X
Bl Clnm S48.7.31| EAME 25| O 22| O 26 O
Skl B|&m S48.7.31 |8 & HAG 25| O 22| O 29| O
— &) ik B|= $48.7.31 (WA FN#E 2.1 O 26| O 26 O
— B )R B[ N S48.7.31|4bJIIHE 5.1 X 44| X 3.9 X
— &I Tk Clm S48.7.31|H 2 1% 2.1 O 20| O 23 O
CACTY NS = S48.7.31| = 4% 1.5 O .41 O .2 O
P ITR B|&o S48.7.31|{THAE 25| O 1.5 O 24 O
— A AlA H8.4.30 [¥ A 0.5 O 06 O 06| O
=il AlA H8.4.30| HLHT Rkt 0.7 O 08| O 08| O
Rl ) 1| A H8.4.30 [##E Bk 1 1.6 O 1.3 O .41 O
g E = S48.7.31| I 148 1.9 O 16| O 16| O
=1 A H8.4.30 | = JF A% 1.8 O 09 O .1 O
S| B S48.7.31| %G 1.3] O 1.7 O 15| O
eyl E = S48.7.31 a7 )14 1.3] O 1.3] O 1.3] O
&) AlA H8.4.30|_E/KERUK O 0.6 O 06 O 0.7 O
WA B ~|  $48.7.31| %A 28| O 28| O 29| O
/I Alnm S48.7.31| F-HiAE 24| X 2.71 X 29| X
BRI AlA H8.4.30 7 FH 4% 08| O 0.5 O 0.7 O
I Alnm S48.7.31 (%G 1.2] O 1.0 O 1.1] O
el C|A S48.7.31 I MI4G 1.3] O 09 O .1 O
AN B3R B|A S48.7.31|E B 1E 1.1] O 1.1] O 1.1] O
IR Clm S48.7.31| N\ iLAG .41 O 1.4 O 1.4 O
KT AlA H5.3.31 |8 M5 1.3 O 09| O 15| O
FINHEE T T 9 B|m S48.7.31 |/ NG 1.9 O 16| O .71 O
HEMRE) I Alnm S48.7.31|{HIKE) 1|5 1.0 O 09 O 1.2 O
#2) L AlA H5.3.31 [+ FH IR .2 O .1l O .2 O
EE) i B|A H5.3.31 ¥ 46 23 O 3.6 X 2.1 O
) T Clm H5.3.31| 2% & KAG .41 O 2.3 O 26 O
FE)I Clnm S48.7.31| Bk B4 1.1] O 1.0 O 1.3] O
#IN E|ln S48.7.31|#BHE .o O 0.8 O 09| O
=l Sl =i S48.7.31| H A4S 25| O 1.2 O 09 O
FIRE RO (FHR) | C| A | S48.7.31 AL 7 25| O 29| O 2.1 O
W)l E |/~ S48.7.31| )\ THE .1] O 20| O 14| O




